Find the cube root of 2744.

(A) 25 (B) 9

(€) 8 (D) 14 gi‘;f@

(E) Not attempted @;@

The Tangri river begins its journey at
in Haryana.

(A) Kalka (B) Aravalli hills

(C) Chandigarh (D) Ambala

(E) Not attempted

Complete the following analogy.

Vitamin A : Retinol :: Vitamin C :
(A) Tocopherol (B) Calciterol
(C) Ascorbic acid (D) Niacin
(E) Not attempted

Find the smallest number that must
be added to 1780 to make it a perfect

square.
(A) 36 (B) 64
(C) 69 (D) 81

(E) Not attempted

The Central Investigation Department
(CID) training school of Haryana is
located at

(A) Zirakpur

(B) Panchkula
(C) Chandigarh
(D) Gurugram
(E) Not attempted

The water accumulated under the
ground surface is called

(A) Ground water (B) Well
(C) Spring (D) Canal

(E) Not attempted
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10.

11.

___________is a footstool that features
a seat made of intertwined strands of
thread in various colors and patterns.

(A) Sanghi (B) Pidi
(C) Jutti (D) Peedha
(E) Not attempted

Mixing of unwanted substances with
water is called

(A) Nuclear pollution
(B) Sound pollution
(C) Soil pollution

(D) Water pollution
(E) Not attempted

Rural Infrastructure Development Fund
(RIDF) was established in

(A) 1995-1998
(B) 1995-1996
(C) 1992-1993
(D) 1992-1996
(E) Not attempted

Find the average of first-40.natural
numbers.

(A) 25.5

(C) 20.5

(E) Not attempted

(B).21.5
(D) 24.5

This prominent Hindi writer of Haryana

had compared the acts of Lord Curzon
with Nadir Shahi

(A) Hali

(B) Lala Lajpat Rai

(C) Bal Mukund Gupta
(D) Pandit Nekiram

(E) Not attempted
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12. Pradhan Mantri Jan Dhan Yojana was
launched on
(A) 28™ August 2014
(B) 28 August 2016
(C) 28™ November 2016
(D) 28™ November 2014

(E) Not attempted

13. Masani dam of Haryana is built across
which among the following rivers ?

(A) Sahibi

(B) Yamuna

(C) Krishnavati
(D) Tangri

(E) Not attempted

14. Full form of NDC g;j%'
(A) National Directory College mis&:
(B) National Defence Course
(C) National Defence College
(D) National Directory Coast
(E) Not attempted

15. Find the square root of 1471369.
(A) 1412 (B)+1213
(C) 1312 (D) 1413
(E) Not attempted

16. The Forests Department of Haryana
runs which among the following
breeding centres in Kurukshetra
district ?

(A) Pheasant Breeding Centre

(B) Peacock and Chinkarg Breeding
Centre

(C) Chinkara Br eeding Centre

(D) Crocodile Breeding Ceptre

(E) Not attempte
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17.

18.

19‘

20.

21.

is1l
9. Find

The difference of 2 numbers
and one-fifth of their sum is
the numbers.

(A) 28 and 16
(B) 28 and 17
(C) 25 and 17
(D) 26 and 17
(E) Not attempted

What is virtual memory ?

(A) The process of dividing physical
memory into small blocks

(B) Theprocessof compressing memory
to save space

(C) The process of simulating more
memory than is physically available
(D) All of the above

(E) Not attempted

Which function is used to read a
character from the console in C ?

(A) putchar() (B) getchar()

(C) scanf() (D) gets()
(E) Not attempted

Evaluate : 28% of 450 + 45% of 280.
(A) 201 (B) 252
(C) 254 (D) 356
(E) Not attempted

o

What is the reason behind Red soil

developing a reddish colour ?

(A) Over grazing

(B) Due to the presence of high iron
oxide

(C) The presence of potash and
magnesia

(D) None of these

(E) Not attempted
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22. The sum of 2 numbers is 184. If 22, 29#&Al '

one-third of the one exceeds @_ﬁ@é E;\Eﬁ * Hlﬂ%l T | 8 e %,

one-seventh of the other by 8, find Q) B e I +L |

the smaller number. (B) 76

(A) 64 (B) 76 (A) 64

(C) 84 (D) 72 (C) 84 (D) 72

(E) TSR

(E) Not attempted

afe wh e 490 T H _GHISH ST §

23. If a radio is purchased for Rs. 490 [ 23. '
31 465.50 T & =1 1A &, Al & H

and sold for Rs. 465.50, find the loss

percent. ferera FTd HINTT |
(A) 5% B) 7% (A) 5% (B) 7%
(C) 6% (D) 9% g%%% (C) 6% (D) 9%
(E) Not attempted el (E) T
24. Which among the following lakes is | 24. fr=fafed ¥ @ HH-H et ghEmwn %
located in Rohtak District of Haryana ? lgas Mo A R g 7
(A) Karna Lake (A) e
(B) Brahma Sarovar (B) F&I T
(C) Tilyar Lake (€) fomm e
(D) Blue Bird Lake (D) ﬁﬂé ElN]
(E) Not attempted (E) TSTRG
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10 i ST
2
(B) 35 AB) 324
5 5
1 C 31
€ 37 (©) 1
(D) None of these (D) 19 T FIE 7
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26.

27.

28.

29.

30.

Complete the following analogy.
Fish : Aquarium : : Poultry :

(A) Farm (B) shed

(C) Den (D) None of these

(E) Not attempted

was the Editor of Haryana’s

first newspaper ‘Haryana Jhajjar’.

(A) Rajaram Shastri
(B) Bhagwat Dayal Sharma
(C) Deen Dayal Sharma
(D) Ramacharan Shastri

(E) Not attempted

If2x+3y+z=55,x+z—y=4and
y - X + z = 12, then what is the value
ofz?
(A) 9
€ S
(E) Not attempted

(B) 7
(D) 8

The Karnataka State Co-operative
Marketing Federation.Litd. plays a

major role in supplying

(A) Chemical fertilizers

(B) Agricultural implements
(C) Pesticides '

(D) All of the abpve

(E) Not attempted

Full form-of RKVY

(A) Rajya Kendra Vikas Yojana
(B) Rajya Krishi Vikas Yojana

(C) Rashtriya Krishi Vikas Yojana
(D) None of these

(E) Not attempted
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31.

32.

33.

34'

Which among the following is .
considered as the first Haryanvi

language movie ?
(A) Chander Kiran
(B) Dharti

(C) Bahurani

(D) Chandrawal
(E) Not attempted

Indiaisthe__ largest Country
in the world in terms of area.

B
A s (B) 7 T
(C) 8 (D) 9 EEIE

(E) Not attempted

Which of the following is true regarding
Subroutines in a computer program ?
\_V\ >3

(A) Subroutines cannot return-avalue
to the calling program

(B) Subroutines can‘only be called
from the main program

(C) Subroutines are used to perform
repetitive tasks in a program

~AD) Subroutines can have their own set

of local variableg

(E) Not attempted

If the cost price is 96% of the selling
price, then what is the profit percent ?
(A) 6.17% (B) 4.17%

(C) 3.17% (D) 5.17%

(E) Not attempted
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35.

36.

37.

38.

The regulated and controlled
distribution of essential goods among
people

(A) Public Distribution System

(B) National Institute of Agricultural
Marketing

(C) National Co-operative Development
Corporation

(D) Source of Agricultural Credit in
India

(E) Not attempted

If in a certain language A is coded as
1, B is coded as 2 and so on , how is
BIDDIC coded in that code ?

(A) 394492
(B) 284563

(C) 294493
(D) 375582
(E) Not attempted

Full form of NAIS

(A) National Arguments Institution
Survey

_(B) National Agricultural Insurance
Scheme

(C) National Argument Insurance
Scheme

(D) None of these
(E) Not attempted

Be

A sum of Rs. 800 amounts to Rs. 920
%n 3 years at simple interest. If the
interest rate is increased by 3%, it
would amount to how much ?

(A) Rs. 998 (B) Rs. 995

(C) Rs. 992 (D) Rs. 997
(E) Not attempted

35.
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38.
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39. A and B together can complete a piece of
work in 4 days. If A alone can complete
the same work in 12 days, in how many

days can B alone complete that work ?

(A) 5 days (B) 7 days

(C) 8 days
(E) Not attempted

(D) 6 days

40. Transformation of Aspirational
Districts Programme was
announced by

(A) NITI Aayog

(B) Pradhan Mantri Yojana
(C) Atal Pension Yojana

(D) None of these

(E) Not attempted

41. A cyclist covers a distance of 750 m
in 2 min 30 sec. What is the speed in
km/hr of the cyclist ?

(A) 18 km/hr
(B) 12 km/hr
(C) 13 km/hr
(D) 17 km/hr
(E) Not attempted

42. IfD =4 and COVER = 63, then
BASIS = ?
(A) 55 (B) 50
(C) 49 (D) 54 [EEE
(E) Not attempted g}
43. Full form of IMRB
(A) Indian Market Research Bureau
(B) International Market Research
Bureay
(C) Indian Market Rural Business
(D) None of these
(E) Not attempted
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44. Hisar Airport of Haryana is formally
knownas _____ International Airport.
(A) Daya Ram
(B) Maharaja Agrasen
(C) Bhagat Singh
(D) Pandit Neki Ram
(E) Not attempted

45. The largest Delta of the world is
(A) Mississippi  (B) Ganga zméﬁﬁ
(C) Sunderbans (D) Nile el
(E) Not attempted
46. X introduces Y saying, “He is the
husband of the grand daughter of the
father of my father”. How is Y related
toX?
(A) Son in law
(B) Son
(C) Brother
(D) Brother in law
(E) Not attempted
47. Find the average of all prime numbers
between 30 and 50.
(A) 38.8 (B). 49.8
(C) 59.8 (D) 39.8
(E) Not attempted
48,

Doordarshan Kendra, the only
Programme Production Center at
Haryana is at this place

(A) Hisar

(B) Gurugram

(C) Ambala

(D) Yamunanagar

(E) Not attempted
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49.

S0.

51.

52.

53‘

-(C) Sand bar

is the first woman in India who
has won Olympic medal in wrestling.
(A) Sangeeta Phogat
(B) Sakshi Malik
(C) Babita Phogat
(D) Geeta Phogat
(E) Not attempted

Which is the number that comes next
in the sequence ?

0, 6, 24, 60, 120, 210, ? ]
(A) 504 (B) 290 s
(C) 240 (D) 336

(E) Not attempted

A deposition of sand which results in

a long, narrow embankment in the
sea near the coast is called

(A) Beach (B) Lagoon

(D) Latitude
(E) Not attempted

Who among the following famous
personalities is often known as “Gandhi
of Haryana” ?

(A) Babu Mool Chand Jain

(B) Dharam Singh Hayatpur

(C) Sir Chotu Ram

(D) Rao Tula Ram

(E) Not attempted

What is an instruction code in

computer architecture ?

(A), Asetofinstructions used to program
a computer

(B) A type of machine language used
by computers

C) A code. used to represent the
operations performed by a
Central Processing Unit (CPU)

(D) All of the aboye DR o,

(E) Not attempted ]
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54. Find the H.C.F. of 108, 288 and 360.
(A) 36 (B) 28
I35
(© 30 oi2s  Hed
(E) Not attempted
55. The outermost solid cover or shell of
the earth is known as
(A) Igneous (B) Sima
(C) Earth crust (D) Sial
(E) Not attempted
56. The two general categories of crop
insurance are called
(A) Crop-yield insurance and crop-
revenue insurance
(B) Crop-price insurance and crop
revenue insurance
(C) Crop-price insurance and crop
insurance
(D) None of the above
(E) Not attempted
57. Which of the following is true about

passing an array to a function in C ?

(A) Only the last-element of the array
is passed to the function

(B) The entire array is passed to the
__/ :
function by value

(C) The entire array is passed to the
function by reference

(D) iny the first element of the array
is passed to the function

(E) Not attempted
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S8.

59.

60.

61.

is the most important and

: read category. It covers 40% of
3—,13 f:gd area. In fact the entire Northern

Plains are made up of these soils,
(A) Alluvial soil (B) Red soil
(C) Black soil (D) Laterite soil

(E) Not attempted

Which of the following diagram
correctly represents Elephants,

Wolves, Animals ?

a T
® GUD

[=]
2
=

0]

(E) Not attempted

Pointing out to a photograph, a man
tells his friend, “she is the daughter of
the only son of my father’s wife”. How
is the girl in the photograph related to
the man ?

(A) Sister

(C) Daughter

(E) Notattempteq

(B) Cousin
(D) Mother

rmtect arifaiy has been bult to
protect artifacts from the Indus Valley
(A) Banawali museyy,
(B) Mohenjodaro musey,
(C) Harappa museum

(D) Rakhigarhi museéum

(E) Not attempted
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62. Which of the following number is

63.

64.

65.

66.

divisible by 3
(A) 541326

(B) 1111

(C) 5967013

(D) None of these
(E) Not attempted

is the most widespread
form of advertising and is the favourite
of the Indian rural masses.
(A) Folk media

(B) Wall painting

(C) Magic shows

(D) None of the above

(E) Not attempted

I [w]
EAE

bxtie
[Elza

During this year, seat of Punjab High
Court shifted to Chandigarh

(A) 1968

(B) 1958

(C) 1955

(D) 1965

(E) Not attempted

If + means /, — means *,/ means+ and
* means —, then

36*12+4/6+2-3 =7

(A) 2

(B) 42

(C) 18

(D) None of the above

(E) Not attempted

Where is the Niagara river found ?

(A) North-America(B) India
(C) Japan (D) Australia

(E) Not attempted

62,

63.

64.

65.

e

s
(o] 3t

CG - CH23

Reffi 3 & R- gen 38 TR 7
(A) 541326

(B) 1111vf\

(C) 5967013 X

(D) T8 ¥ i &l

(E) 3w

g w1 gEd AT B 3R
Wrelier Tt el 1 TEETET €

(A) e Hhfen

(B) dieT Ufém

(c) Afse

(D) Swfwa o & B3 E

(E) ITRfda

g e =rTe @ Hie =g T g
T4 % G IHTA §'§ 1

(A) 1968

(B) 1958

(C) 1955

(D) 1965

(E) 3TRmtEa

afy + w1 3/, — T 3, /Waﬁ+3ﬂ”{
« o1 31} -8, A
36%12+4/6+2-3 = ?
NENR
(B) 42
~(C) 18
(D) ST # & g
(E) 3TRIHA

66. AT & el 9§ S @ 2

-15-

(A) Sult-amfE
(C) ST
(E) IrwRnfa

(B) HHd

(D) Jregfern

3 %
c— & 67
3 M+2 X

g¢-2x . 5
/

g




67. Which of the following is the correct

syntax for using malloc() to allocate
memory for an integer variable

(A) malloc(2 * sizeof(imn

(B) malloc(sizeof(int*)) ;%?@
(C) malloc(sizeof(int)) IE :;;:%;
(D) malloc(sizeof(int)) * 2

(E) Not attempted

68. Find the L.C.M. of 72, 108 and 2100.
(A) 37500
(B) 37600
(C) 37800 ié
(D) 37400 { fl
(E) Not attempted \‘\ e LU
69. What is the LOOK disk scheduling

algorithm ?

(A) A disk scheduling algorithm that
services requests in’one direction
until there are no more requests in
that direction, and ‘then reverses
direction and services requests in
the other direction

(B) A disk scheduling algorithm that
services requests that are closest
to.the current position of the disk
arm, and changes direction when
there are no more requests in that
direction

(C) A disk scheduling algorithm that

services the request that requires

the shortest rotational delay

(D) None of the above

e

(E) Not attempted

-16-

oy, fdl TR Sfeset b AHHT e gy
¥ REH manoc()‘q?rsclzﬁrrm—lré,;fm
e # @ BT R R 7
(A) malloc(2 * sizeof(int))
_(B) malloc(sizeof(int*))
(C) malloc(sizeof(int))
(D) malloc(sizeof(int)) * 2

(E)

72,108 3 2100 1 THIH TATIEE
(erefiem) ST T, |
NG 37500 Y
(B) 37600
(C) 37800
(D).37400
(E) SRR

—7=A
69. T (LOOK) f&wh Je=ier e

~(A) T e Siefort weifien St we
e % a9 % Ul W HaT 7
S % 39 feun # +E 3R Iguy [
&, 3t fist fewm Serest qadl faum &
STTALT =1 U HTT 2
(B) T femh resgfer wemiften i fewp
i garH feaf o Te " 6 A
I 9 e 7, 3 3 fewn F FE 3%
FIG T B W R wee o &

68.

2

BEE (C) w few Sl TR S aRR

qoff oot & anfém 3y & @@
T &

(D) W & ¥ WIS T
(E) ITSETea




70.

71.

72.

73.

C_r:]‘?\ layer lies below the

(A) Mantle

(B) Rocks

(C) Core

(D) None of these
(E) Not attempteq

Shivalik hills are not found in which
among the following districts of
Haryana ? '

(A) Ambala

(B) Yamunanagar
(C) Sirsa

(D) Panchkula
(E) Not attempted

Find the largest number which divides
62, 132 and 237 to leave the same

remainder in each case.
E-
(A) 39 (B) 35 aﬁ%ﬂ
EL4E
(C) 34 (D) 37

(E) Not attempted
A deep and narrow valley with steep
sides is called a

(A) yeshaped valley
(B). Delta

(C) Gorge

(D) All of the above

CG - CH23

70. _ g siaRadd
(8) e
(B) =rgH
(C) ®R
(D) 38 ¥ S &
(E) 3nEnfa

71. s vafat giamn % Friiea 3 ]

sz ﬁmﬁﬁﬁaﬁwﬁmﬁ%?

it (A) ST -
(B) I
(©) T,

(D). G=Ipel.
() TSR

72! agm%a@dwm@rﬁqmﬁ '
62, 132 3 037 T G R T »2333
B

orF TS T Ahe o | =
) 39 (B) 35 6*@%& g_
(©) 34 (D) 37 T
(E) STRITHA
73. iem Rrmd et et 3f g =
gl S 8 |
/(A)aﬁ-maﬁzna
(B) S
(C) IS
(D) S @t
(E) TSR

(E) Not attempted

17



74. Which of the following statements

75.

76.

is true about inter-function
communication ?

(A) Inter-function communication
can only be done between

functions that are defined in the

same file

I[nter-function communication

refers to the use of function

arguments and return valuesg
to pass information between

functions

(B)

Inter-function communication
refers to the use of global
variables to pass information
between functions

(C)

Inter-funptiop communication is
not possible in most programming
languages

(E) Not attempted

(D)

Find out the missing number in the
following sequence.

,3,3,6,7,9,?, 12, 21
a) 13

(B) 11

(C) 10

(D) 12

(E) Not attempted

O
ey _*"rn.'l

[=1iE]

During the first World War, of
Ambala district in Haryana was one of
the architects of the Ghadar party in
San Francisco.

(A) Deen Dayal Sharma
(B) Teeku Ram

(C) Neki Ram

(D) Kanshi Ram

(E) Not attempted

CG - CH23

ga_mqa:qﬁ%m%aﬁﬁﬁnﬁﬁ

AT 7

) o0 YR ST JE Wi
R B o S TehaT ST Tehan

(B) - FEAHI, TR H iy
FFHR T T o T TR T aik
et 9T % U R AR Har

() TH-GTH BRI, HRHE 5 @Y
eI 1 I B & Fore dfars =
ST R HEHA LT 8

(D) T e # F-aH
SR 99E T8 3

(E) TSR

75. TrafoRan smsem ® g g e il |
1,3,3,6,7,9,°?, 12, 21
aTe T W
B) 11
(C) 10
(D) 12

(E) TR

74.

A

[=]
(=]

AL
-

o {95 I % e, g 3 siEren Ry
S B it e i % s
TATH Y |

(A) < eI vt
(B) ¥ 1w
(C) I 1w
(D) reft Tm
(E) TSR

76.

-18-



78.

79.

80.

81,

Ifin a

ZOGVI(\:IC;SIG’ ALTERED is written as

RELATE » then in the same code,
D would be written

(A) VIOUYGM
(B) IVOZGwv
(C) IVOZGVw
(D) IVOJKHM
(E) Not attempted

as

Classification of rural markets
(A) Consumer market

(B) Services market

(C) Industrial market

(D) All of the above

(E) Not attempted

What value will replace the question
mark in the following equation ?

8597 — ? = 7429 — 4358

(A) 5258 (B) 5526
(C) 5528 (D) 5256
(E) Not attempted

This district of Haryana has least
number of Gram Panchayats

(A) Faridabad
(B) Panipat 57
(C) Gurugram G %

(D) Mahendragarh
(E) Not attempted

ms are there in
024 ?

(B) 8

(D) 10

How many ter
2, 4,8, 16, ..., 1
(A) 12

(C) S

(E) Not attempted

77.

T

78.

79.

80.

-19-

ELeE

81.

CG - CH23

4t w g #f ALTERED %1 ZOGVIVW
foren s 2, 4t 3¢ s § RELATED 9l
VO feran S |
(A) viouyGM
(B) IVOZGWV
IVOZGVW.
(D) IVOJKHM
(E) Tsrmfdm

Trefiur ST <1 ST (ehLoT
(A) Ui FTER

(B) &1 SNIR

(C) STrENfRe THR
(D) S a+t

(B) TSI

g oo 1 vy ~E & R W
HF-FT qF AT ?
8597 — ? = 7429 — 4358

(A) 5258 _ABT 5526
(C) 5528 (D) 5256
(E) STRIRd
g & fFe e #§ gew %8 am
TG 8 7
A) g
(B) I
(C) U s
(D) TRETS o $6 S
©) FRRE o
3>
2, 4,8, 16, ..., 1024 T fhe 75 8 ?
(A) 12 (B) 8
(€) 5 AD) 10
(E) JTwEtea
o T
—1 @Sﬁ‘



82. Whatis a dependent statement in
programming ? '
A) A statement that is used to define
a variable

(B) A statement that depends on the

~" execution of other statements in
the program 7

(C) A statement that executes
independently of other
statements in the program

(D) A statement that is only executed
under specific conditions

(E) Not attempted

How many number of times, President
Rule was imposed on Haryana ?

(A) 4

(B) 2

(€)1

(D) 3

(E) Not attempted

83.

84. What value will replace the question

mark in the following equation ?

?-1936248 = 1635773

(A) 3458690
B) 2021357

o a0 R
(D) 1936248 f

(E) Not attempted

85. What is rotational delay ?

A) The time required for the disk arm
to'move to the correct track

(B) The time required for the disk
controller to process a disk request

/’C) The time required for the disk to
rotate to the correct sector -

(D) None of the above
(E) Not attempted

ElEE

-20- U &
S

CG - CH23

Wﬁ%ﬁzéﬁzw-@m%?

FO % fore T fepan S @

s e 5 o # R

Froqred T fft e 2

T g v @ fromfed € 2

(D)Q%@Eﬁ?ﬁmwmn
fromfea g @

82.

(B)

84. TfaRea gieor 4 ug g & WM |
HF-TT qH B ?
? — 1936248 = 1635773
(A) 3458690
(B) 2021357
A€ 3572021

(D) 1936248
(E) ST

85. i fas@ w2 ¢

(a) feop ami @ g& 3% WA ¥ fo
N T

(B) fem a0y = waTha %@ % foe
o= e g snfaa g

(€) Terr = T A # gam & forw
anfaq T

(D) SWeet | | I3 &

(E) Avnfaa
EEN R
\ " 69\\\
13T
AT~



' 86.

n a certai
- ain code, SIKKIM is written as

THLJJL. How is T :
that code ? RAINING written 1n

(A) SQRSGREE
(B) SDHMLHJ]
(C) UQBHOHOF
(D) None of these
(E) Not attempted

National Agricultural Co-operative

Marketing Federation (NAFED) was
established on

(A) 2" October 1956
(B) 274 October 1985
(C) 274 October 1958
(D) 27 September 1958
(E) Not attempted

Expressway of Haryana is
longest 6 lane flyover in India.

the
(A)
(B)
(€)
(D)
(E)

Kurukshetra
Chandigarh
Ambala
Panipat

Not attempted

E5E ]

e
[CIEc£ -2

An aeroplane flies along the four sides
of a square at the speeds of 200, 400,
600 and 800 km/hr. Find the average
speed of the plane around the field.
(A) 564 km/hr (B) 384 km/hr

(C) 765 km/hr (D) 444 km/hr

CG - CH23 _
‘,‘3 W\ ) 12 2 % —5\
Uh P sz # SIKKIM 1 THLIJIL fera
ST 2, & TRAINING 1 1 e ST 2
(A) SQRSGREE
(B) SDHMLHJI
e UG Ofor
EdH (D) s @ B8 T8l
(E) srwnfaa

87. Uiia pfy wehrdl
9T

86.

foqur 99 (NAFED) 1
T hTaTs oft |
_(A) 2 3AFEL 1956
. (B) 2 3TeRE 1985
~(C) 2 FFSL 1958
(D) 2 Thast 1958
< (E) sTfa
=RemT T TEEd WRd ° A4
T 5T TEY AT 6 A FARSAE B |
(A) HoRT
(B) =I€TE
(C) AT
(D) g — <
(E) STS=iEa
g0. TH MM Wk =i & =W AR 200, 400,
600 31 800 TpHt /et =t nifa | I=aT 3,
St Bt 3 IR S Fam <6 it T
HIT |
_A) 564 et /ger  (B) 384 T/t
() 765 fpHfi/aar (D) 444 foeft /e

88.

o

(7(3)-’

(E) Not attempted (E) ST
Find the least number exactly divisible | 90 12,15, 20 27 o o' T ']
by 12,15, 20 and 27. el gad B & 9 Hig |
(A) 240 (B) 540 A 280 . (B) 540
(C) 440 (D) 340 JAC) 430 D) 340
( ted oo P (E) 3
E) Not attempte Q- g _— >
IS ) .
\» ¢~ -21- e Xt oe® D
@ =" (/

@\



91. Complete the following analogy,

English Language

Hen : Pullet : : Kangaroo : faTe
(A) Joey (B)
(C) Cub (D) FTETE
(D) Pup e (E) 31‘51'&1'%3
(E) Not attempte ,
92. How many tenses are there in English A) TR
Grammar ? AA) i
(A) 8 @ AB)
B) 2 L, © EieThETT
(C) 4 :@ (D) i ga
4D) 3 (E)- ST
(E) Not attempted
o .%aa ¢mm»
93. Choose the correctly spelt word. (g il _;ﬁ[ e Egm )
_AA) Farewell % TG h E 3 i
(B) Fairwalwx. ~A) I¥ 1909
(C) FairwellX (B) ¥ 1903
(D) Fairwel (C) T 1900
(E) Not attempted D) =¥ 1906
84. Complete the following'analogy. (E) Itrnfa
Faith : Doubt : : Enjoy : .
(A) Suffer v 99. K& vy | fere swuTe 1 AR
~B) Sad /I 7
(C) Pain A E§§ (A) ey
(D) Happ R et
(E). Not attempted (ti; ﬁﬂ%’l’ﬁ
95:. Complete the following analogy. (D) W‘Fﬂ
Full : Empty : : Pride : (E) tnfem
JA) Denounce
(B) Dissuade 100. fe&h T T F rar A E ?
(C) Defendant (A) 2
. < (B) 3
(D) Humanity & ) 1 D) 4
(E) Not attempted (E) (D)
o —

@ @}6()«6 /\“



